




(Note 1) Conventional response after 1NT overcall  
1M-(1NT): 2=OM 5+,inv+, F1/ 2M-1= good raise/ 2M= bad raise/ 2NT=LEB/ 3= 4+ supp, 7-9 pts/ 
 3= 4+ supp, 10-12pts/3M= PRE/ 3NT= FG raise 
1-(1NT):2= NAT const, NF/ 1-(1NT):2= 5+, const, F1 
 
1m-(1NT); 2=both M, 5+-4+/ 2= TRF to 2/ 2= TRF to 2/ 2= FSJ (m and om)/ 2NT=LEB/ 
3=  FG/ 3=  FG/ 3M= SPL 
 
1-(1NT)-2-(P); 
2M= NAT NF/ 2NT= m s/o or M fit inv/3= NAT, FG/ 3= NAT, FG/ 
3M= Fit FG/4m= 18-19 HCP BAL, Fit/ 4M= to play 
 
1-(1NT)-2-(P); 2= ART M choice 
1-(1NT)-2-(P); 2= NAT, NF 
 
 


